

# *Reduction Formula*

Reduction (or recurrence) formulae expresses a given integral as the sum of a function and a known integral.

Integration by parts often used to find the formula.

e.g. (i) (1987)

Given that  $I_n = \int_0^{\frac{\pi}{2}} \cos^n x dx$ , prove that  $I_n = \left(\frac{n-1}{n}\right) I_{n-2}$

where  $n$  is an integer and  $n \geq 2$ , hence evaluate  $\int_0^{\frac{\pi}{2}} \cos^5 x dx$

$$I_n = \int_0^{\frac{\pi}{2}} \cos^n x dx$$

$$= \int_0^{\frac{\pi}{2}} \cos^{n-1} x \cos x dx \quad \begin{array}{l} u = \cos^{n-1} x \quad v = \sin x \\ du = -(n-1)\cos^{n-2} x \sin x dx \quad dv = \cos x dx \end{array}$$

$$= \left[ \cos^{n-1} x \sin x \right]_0^{\frac{\pi}{2}} + (n-1) \int_0^{\frac{\pi}{2}} \cos^{n-2} x \sin^2 x dx$$

$$= \left\{ \cos^{n-1} \frac{\pi}{2} \sin \frac{\pi}{2} - \cos^{n-1} 0 \sin 0 \right\} + (n-1) \int_0^{\frac{\pi}{2}} \cos^{n-2} x (1 - \cos^2 x) dx$$

$$= (n-1) \int_0^{\frac{\pi}{2}} \cos^{n-2} x dx - (n-1) \int_0^{\frac{\pi}{2}} \cos^n x dx$$

$$= (n-1)I_{n-2} - (n-1)I_n$$

$$\therefore nI_n = (n-1)I_{n-2}$$

$$I_n = \left( \frac{n-1}{n} \right) I_{n-2}$$


---

$$\begin{aligned}\int_0^{\frac{\pi}{2}} \cos^5 x dx &= I_5 \\ &= \frac{4}{5} I_3 \\ &= \frac{4}{5} \times \frac{2}{3} I_1 \\ &= \frac{8}{15} \int_0^{\frac{\pi}{2}} \cos x dx \\ &= \frac{8}{15} [\sin x]_0^{\frac{\pi}{2}} \\ &= \frac{8}{15} \left( \sin \frac{\pi}{2} - \sin 0 \right) \\ &= \frac{8}{15}\end{aligned}$$

---

(ii) Given that  $I_n = \int \cot^n x dx$ , find  $I_6$

$$I_n = \int \cot^n x dx$$

$$= \int \cot^{n-2} x \cot^2 x dx$$

$$= \int \cot^{n-2} x (\operatorname{cosec}^2 x - 1) dx$$

$$= \int \cot^{n-2} x \operatorname{cosec}^2 x dx - \int \cot^{n-2} x dx$$

$$u = \cot x$$

$$du = -\operatorname{cosec}^2 x dx$$

$$= -\int u^{n-2} du - I_{n-2}$$

$$= -\frac{1}{n-1} u^{n-1} - I_{n-2}$$

$$= -\frac{1}{n-1} \cot^{n-1} x - I_{n-2}$$

---

$$\begin{aligned}\int \cot^6 x dx &= I_6 \\ &= -\frac{1}{5} \cot^5 x - I_4 \\ &= -\frac{1}{5} \cot^5 x + \frac{1}{3} \cot^3 x + I_2 \\ &= -\frac{1}{5} \cot^5 x + \frac{1}{3} \cot^3 x - \cot x - I_0 \\ &= -\frac{1}{5} \cot^5 x + \frac{1}{3} \cot^3 x - \cot x - \int dx \\ &= -\frac{1}{5} \cot^5 x + \frac{1}{3} \cot^3 x - \cot x - x + c\end{aligned}$$

---

(iii) (2004 Question 8b)

Let  $I_n = \int_0^{\frac{\pi}{4}} \tan^n x dx$  and let  $J_n = (-1)^n I_{2n}$  for  $n = 0, 1, 2, \dots$

a) Show that  $I_n + I_{n+2} = \frac{1}{n+1}$

$$I_n + I_{n+2} = \int_0^{\frac{\pi}{4}} \tan^n dx + \int_0^{\frac{\pi}{4}} \tan^{n+2} dx$$

$$= \int_0^{\frac{\pi}{4}} \tan^n x (1 + \tan^2 x) dx$$

$$= \int_0^{\frac{\pi}{4}} \tan^n x \sec^2 x dx$$

$$= \int_0^1 u^n du$$

$$= \left[ \frac{u^{n+1}}{n+1} \right]_0^1$$

$$= \frac{1}{n+1} - 0 = \frac{1}{n+1}$$

$$u = \tan x$$

$$du = \sec^2 x dx$$

when  $x = 0, u = 0$

$$x = \frac{\pi}{4}, u = 1$$

b) Deduce that  $J_n - J_{n-1} = \frac{(-1)^n}{2n-1}$  for  $n \geq 1$

$$J_n - J_{n-1} = (-1)^n I_{2n} - (-1)^{n-1} I_{2n-2}$$

$$= (-1)^n I_{2n} + (-1)^n I_{2n-2}$$

$$= (-1)^n (I_{2n} + I_{2n-2})$$

$$= \frac{(-1)^n}{2n-1}$$

---

c) Show that  $J_m = \frac{\pi}{4} + \sum_{n=1}^m \frac{(-1)^n}{2n-1}$

$$\begin{aligned} J_m &= \frac{(-1)^m}{2m-1} + J_{m-1} \\ &= \frac{(-1)^m}{2m-1} + \frac{(-1)^{m-1}}{2m-3} + J_{m-2} \\ &= \frac{(-1)^m}{2m-1} + \frac{(-1)^{m-1}}{2m-3} + \dots + \frac{(-1)^1}{1} + J_0 \\ &= \sum_{n=1}^m \frac{(-1)^n}{2n-1} + \int_0^{\frac{\pi}{4}} dx \\ &= \sum_{n=1}^m \frac{(-1)^n}{2n-1} + [x]_0^{\frac{\pi}{4}} \\ &= \sum_{n=1}^m \frac{(-1)^n}{2n-1} + \frac{\pi}{4} \end{aligned}$$

---



d) Use the substitution  $u = \tan x$  to show that  $I_n = \int_0^1 \frac{u^n}{1+u^2} du$

$$I_n = \int_0^{\frac{\pi}{4}} \tan^n x dx$$

$$u = \tan x \Rightarrow x = \tan^{-1} u$$

$$I_n = \int_0^1 u^n \times \frac{du}{1+u^2}$$

$$dx = \frac{du}{1+u^2}$$

$$\underline{I_n = \int_0^1 \frac{u^n du}{1+u^2}}$$

$$\text{when } x = 0, u = 0$$

$$x = \frac{\pi}{4}, u = 1$$

e) Deduce that  $0 \leq I_n \leq \frac{1}{n+1}$  and conclude that  $J_n \rightarrow 0$  as  $n \rightarrow \infty$

$$\frac{u^n}{1+u^2} \geq 0, \text{ for all } u \geq 0$$

$$\therefore I_n = \int_0^1 \frac{u^n}{1+u^2} du \geq 0, \text{ for all } u \geq 0$$

$$I_n + I_{n+2} = \frac{1}{n+1}$$

$$I_n = \frac{1}{n+1} - I_{n+2}$$

$$\therefore I_n \leq \frac{1}{n+1}, \text{ as } I_{n+2} \geq 0$$

$$\therefore 0 \leq I_n \leq \frac{1}{n+1}$$

$$\text{as } n \rightarrow \infty, \frac{1}{n+1} \rightarrow 0$$

$$\therefore I_n \rightarrow 0$$

$$\therefore J_n = (-1)^n I_{2n} \rightarrow 0$$

**Exercise 2D; 1, 2, 3, 6, 8,  
9, 10, 12, 14**